
SAP ABAP table T5DCN {Calculation Method Employment Period/Income}

T5DCN

MANDT [CLNT (3)]

ANTYP [CHAR (1)]

ANSPR [CHAR (4)]

MODBV [CHAR (2)]

ENDDA [DATS (8)]

IDDZO [CHAR (4)]

T000

MANDT [CLNT (3)] T5DCN-MANDT = T000-MANDT 0..N

0..N

T5DCA

MANDT [CLNT (3)]

ANTYP [CHAR (1)]

ANSPR [CHAR (4)]

 T5DCN-ANSPR = T5DCA-ANSPR 
0..N

1

T5DW1

MANDT [CLNT (3)]

GRTP4 [CHAR (1)]

GRID4 [CHAR (4)]

 T5DCN-IDDZO = T5DW1-GRID4 

0..N

1

T5DWE

MANDT [CLNT (3)]

ANTYP [CHAR (1)]

ANSPR [CHAR (4)]

MODBV [CHAR (2)]

 T5DCN-MODBV = T5DWE-MODBV 

0..N

1


